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Ignore this, | just dragged work plane 4 out
from under workplane 5 trying to get
something to work as workplane 4 was

consumed during 5's creation.

I'd like it to be offset/based from either XZ or
work plane 3...but when I click work plane 5
and redefine it...it asks me to select

something but wont let me select either of
those planes...

This is what I currently have, but
when | want to adjust it | have to
chase the lower sections around

to get the right dimension to the
upper section

Ideally either one of these

would work, then | could easily
set the top section height from
the top or bottom extents.
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This is what I currently have, but when I want to adjust it I have to chase the lower sections around to get the right dimension to the upper section
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Ideally either one of these would work, then I could easily set the top section height from the top or bottom extents.
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Ignore this, I just dragged work plane 4 out from under workplane 5 trying to get something to work as workplane 4 was consumed during 5's creation.
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I'd like it to be offset/based from either XZ or work plane 3...but when I click work plane 5 and redefine it...it asks me to select something but wont let me select either of those planes...




